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1) Rubidium has two common isotopes, ®Rb and ¥Rb. If the abundance of
85RD is 72.2% and the abundance of ¥'Rb is 27.8%, what is the average

atomic mass of rubidium?

g5 x .3oD = GLOF . |

,gi;l‘%i , D2 § = ﬂi ?‘S&Qmw‘
§s .55

2) Ura?l?uﬁ: has three common isotopes. If the abundance of 234 is 0.01%.

the abundance of 228U is 0.71%. and the abundance of 2°U is 99.28%,
what is the average atomic mass of uranium?
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3) Titanium has five common isotopes: T (8.0%), AT (7.8%), 48T} (73.4%),

49Ti (5.5%), °Ti (5.3%). What is the average atomic mass of titanium?
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4)  The two isotopes of chlorine are shown below, each with its percent by mass abundance and the
composition of its nucleus. Using the data, calculate the average atomic mass of chlorine.
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